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SRR A X' SR N' % 99 ¥ o1 3
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frﬁ:A+Bweﬂe§%, A B g 3

A-Bwwiy, AB oy 4

AXBWGT?&%, 'A’B%ﬁ?ﬂ%r
MPXQER- s gy,

DR S & fen 3 i
AT T R
() Q. sHufyy Q»u{ug
(4) S, P oy &

(5) ST & A1 ey

Eﬁ‘wﬁrﬁﬂ,x Z, M, N &R O wer 3 ot 55
W@%ﬁ%%,ﬁ%ma@ﬂﬁ%%

'O'mﬁﬁﬁﬁq‘{:lﬁ%lMaiq@@fﬁ?%'?
() O sk N

o Mtz W
(2) X R N
() Z&rY
(41 O it X ;

(5) S =& < AR

oot o & ATl o e Rt AT o, o S A | 3,

% o WER w1 ot R ar?

p—

(1) T 20 +30. %@
(@) TR L

\BY g

(4) gfram
ORGSR W&’f

If A + B means 'A is brother of B'.
A — B means 'A is the husband of B'.
A x B means, 'A is the father of B
Then P x Q + R — S means :

(1) P is the father of S -

(2) P is the father-in-law of S

(3) Q is the husband of S

_(4) S is the wife of P

(5) Not attempted

Six persons X, Y, Z, M, N and O are sitting
in a row facing towards North but not

necessarily in the same order. 'Z' is sitting

between X' and 'N'. 'M' is not at the end. Y’

is sitting immediate right to 'N". 'O' is not at

the right end. Who are the neighbours of M? |
(1) Oand N it |

(2) X and N

@B)ZandY

(4) O and X

. (5) Not attempted

The fourth day of March in a year was
Thursday, what was the last day of the next
month in that year?

(1) Sunday

' (2) Thursday -

(3) Friday
(4) Saturday
(5) Not aftempted

]
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P

o HUA I sEH T ¥ Prese 1 efx 11 Ry g Two statements are given, followed by two
¥ T T B A T v g A Y wee: conclusions I and II. Assuming the statements
g 7 ¥ R & ) 7wl B |, Pl Y to be true even if they seem tq be at variance
5 B9 /Y Freey R Mo weE % ot U% from the c‘om'mOpIy known facts, decide
THETa B9 A Preraan ¥/feed € which of the conclusions l6gically follow(s)
n the given statements!™
Sy & R S %#? ff01711 e gl Ie st::‘\te‘llnentsr.?lI
: L Statements :  All rivers are mountains.
T TEErR g9w ¥ Al octans 4 |
{ el e All’oceans jare mountains.
ferd: () oo wfRal wemrr ¥) R AE i
I 5 Y s | Conclusions : (I) Some rivers are oceans.
[i i ” I i I P f s
SO o f (I) Some l“.r'_{l’ountains are
(1)=ra‘rﬁrsaauflaﬁr=r€rllﬁw%i | rivers. '')
| A o E e
(2) ¥aw Frsed 1 ﬁ‘lﬁﬁT %I ' (1) Neither conclusion I nor I follows.
(3" e Fresd 11 ﬁﬁ?—ﬁn %l (2) Only conclusion I foll6Ws.
(4) e 1 efx 11 9 ﬁ'ﬂﬁﬁ %‘i (3) Only conclusion II folllovirs
(5) ST & 31 =@ (4) Both conclusion I and II follow.
! (5) Not atterpted i
5. 5q Rrees @1 T BREYR Gt T o % 1)
YHR HEUE ¥, 9 ysroEEd us, e 9w ¥ Choose the option which @Sirelated to the
wefw ¥ ¢ i 1 third term in the same wdy Jas the second
(, w AR SN 05
. R ) .9 l terrnlls re¥aﬁed to the ﬁl,.StJ\l‘_:;
| Pen : Write : : Spade .2
(1) <& il\ : ; T4
5y & (1) Guard
& ) L (2) Crush
(3 @eT ) ! P )
T ™ iy 3 aE )
(4) wreT = | @ cut i)
(5) Bt 8 Zar W (1) | (5) Not atternpted ‘:;I '
£ : (6 2
- voul) | - s
6. & 7w sfEen § g9 €O @ ww g Find the missing number ii"the series :
143, 149, 158, 17 170, 3?5 , 203 e 143, 149, 158, 170, , 203
} 1. 3 £ 4y
(1) 192 & \Q\J\j i (1) 192 oy
@) 182 W o ik (2) 182 ff’
L3 185 (o (@) HLSSHN : ppf
(4) 190 Bl (4) 190 - =]
© (5) Wt A T wE ™ (5) Not attempted P
IKSHR /Y3 / Page 3 T 1 % RTg @ / SPACE FOR ROUGH WORK p.T.O.




s

8.

10. fawm &1 999 HWT ¢

9. g UH FHe WG H VIETNAMHQI@E‘_

B b

I S orert 3 e o orarafier g A R
¥ SIS & S o an w at fors

4)3,6,1,5,2,4 AV W&

YE-guE ey & g%, T uF @ B TWh
T T e anl e A o S w= %
SR 1 g+ @ ga few R & a@?

(1) Sge—ufyaw

@ e phien 8
(3) T b

(4) ufyesm

(5) ITX & 391 =@ed

224530 fu) 13

WKEVOCN' %, ot 3et g e & 'BRITAIN
& S T e s ? e
(1) CTJUCIP CTIVBWY
(2) CTIWBKO

(3) CTIWCIJP

& CTIVBKO

(5) SO & o AEd

R

I

10.

A set of English letters is given l?elo'w ina
order. Select the combination of
letters arranged
ord.

jumbled
numbers so that the
ordingly will form a meaningful W
TOARHU

12 4 4ie 0

(1) 2, 45 5 Ls 3,6

(2) 4,2, 1,6, 3,9

(3) 3, 65 15 4 S

“) 3, 6, 1, 5, 2,4

(5) Not attempted

acce

Early in the morning after Sunrise, Sunny
"\was standing facing a pole. The shadow of
fhe pole fell exactly to Sunny's right. Which
direction was he facing?

(1) North-West

(2) South

(3) East

~ (4) West

(5) Not attempted

If in a code language 'VIETNAM' is coded
as "WKFVOCN!, then how wiil 'BRITAIN'
be written in the same code?

(1) CTIUCIP

(2) CTJWBKO

(3) CTIWCIP

(4) CTIVBKO

(5) Not attempted

Choose the odcf‘c)ne out :
(1) Kilogram

(1) Fremm

(2) 7 (2) Gram

(3) Friea (3) Quintal

4 Pt (4) Kilometer

(5) T 8 T A (5) Not attempted
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11.

12.

13.

14.

15.

IKSHR / Y3 / Page 5

Change the following sentence to indirect
speech. _ "
He said, "Nambiar works hard.
(1) He said that Nambiar had been working
hard.
He said that Nambiar worked hard.
(3) He said that Nambiar was working hard,
(4) He said that Nambiar had worked hard.

(5) Not attempted

Choose the correctly spelt word :
() incredulus

(2) incradulus

(3) incradulous

(4) incredulous

(5) Not attempted

Replace the underlined word/phrase with an
alternative to make a grammatically correct
sentence.

"The ladder will be collapse if you push the
wall with both the hands. i

(1) No change

(2) will collapse

(3) will have collapsed

(4) will have been collapsing

(5) Not attempted '

Pick out the part of the sentence which
has an error. If there is no error, your answer
is '1". i
The whole block of flats /
A
including two shops were /
SN
destroyed in the earthquake.
C
(1) No error
) A

.1(2/%

(5) Not attempted

Choose the alternative which best expresses
the meaning of the underlined idiom.

Our hockey team scored the winning goal
at the eleventh hour. ‘
(B at the last minute
(2) in the beginning
(3) at a crucial time
(4) before an hour
(5) Not attempted

16. ) Arrange the following parts of the sentence

17.

18.

19.

20.

to make a meaningful sentence.

A. to understand

B. to many people

C. threatening and even impossible
D. grammar appears

(1) ADBC

(2) CABD

A3) BDCA

'(4) DACB .

(5) Not attempted

Find out the synonym of the underlined word
in the following sentence.

Colours, like features, follow changes of
‘emotions.

(1) under-current

(2) moments,

(3) movements

(4 sentiments

(5) Not attempted

Fill in the blank with correct form of verb.

 Neither of the two men very strong.

(1) shall be

£2) were .
(3) was

(4) will be

(5) Not attempted

Choose the alternative which best expresses
the given sentence in Passive Voice.

Must we cut this tree?

(1) Must this tree is cut?

(2) Must this tree will cut?

(3) Must this tree was cut?

#4) Must this tree be cut?

(5) Not attempted

Find out the antonym of ‘democracy'.
(1) monarchy

(2) popylar

(3) republic

(4) delicacy

(5) Not attempted
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21. % 9.30 yf freim o 7 @t R omr FERX
% I A 8:7 % orgura ¥ Py ey afy e
®1 7 T 10 Wi Reciom ¥, L8 g wor ¥

W‘i@u%ﬁ:ﬁumw%#”
(1) % 11.00 lP\ 0
) 7 10.30 oy N\ 1°/
3) % 10.60 ™ AR
. s 2 - (1]
[}_}@ 4
4T 10.80
(5) WX & ¥ = %'\“f’”
| T | /‘}‘4 a

r—;’J’Wf\'lo'
@ a:b%mwﬁaﬁ%mﬁumﬁr%m

AN ¢ : d W, § ¢

i ad — bc
(1) iy

—cd
a—->b

a
2 -

ac+ bd
c+a

3

ad + bc
@) c+d

(5) FaT Té I A

23. smwﬁﬁamm’f
o %, 20h :

10,080
- (2) 10,010
(3) 10,015
(4) 10,020

(5) waX 7 &1 T

v

T,

C'.

Q_xw\hj - f:_

1 ',;:\

<

oD
{7 5
oy }
1—1 K&

T 00,
l"a-u

P

Iy
o)
-
oy
N
12, 15 oiv 18 @

*S‘f-
rrf‘J
X
Ty b
i3
H
(>

21,

22.

23,

Wheat at Z 9.30 per kg is mixed with another
quality of wheat in the ratio 8:7. If the
mixture so formed bel_worth Z 10 per kg,

what is the rate per kg ofjthe second quality

of wheat? ()
o0’ bed @il

(1) T 11.00 o
(2) ¥ 10.30 .
(3) 7 10.60 s
(4) T 10.80 0
(5) Not attempted ()
(i)

48!

The number that must bg added to each term

" of a: b so as to get thetatio ¢ : d, is
2 B
) ad —bc
Gy Tl
")
ab—cd ™=
@) P )
)
ac+ bd ‘:‘
3) L
c+a
. ad +bc L)
e T
- e
(5) Not attempted ")
oy
The smallest 5-digit nufiber which is exactly
divisible by 12, 15 and 18 is : -
1) 10,080 L
(1) 10,08¢ ot
(2) 10,010 (o
(3) 10,015 4y
)
(4) 10,020 met

(5) Not aftempted ([
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X 1 2Xx o
QD LU +m =
24 x-1 x+1 d5x
e
(1) 4 o)
(@)
J}YI v
T
3 2
: Ly - .
&) o) _
‘ : G : ;
(5) ST & %ﬂ%;‘@%’?f
{ON
v

25. Mﬁ1ﬁ3§%m§qﬁﬁﬁnﬁaﬁsmnml
Tty g 9T X 75, & i ¥

LN

1
% : ‘
L) : ‘
UJ 4 £ ‘

e

(1) T 240 -

T 120

@) 213000

et

!\ ¥ 3 1

4) T 150 | et |
o e ey : : |

(5) ST & ﬁ@ﬁ . o
Q ‘ |

By f 9

RFe oTuTa & ST @I STeT S ?

A 17:3 To)
' o,

(2) 3:4 &:
)

3) 3:5 N
(s

5%

e

4) 15:3 .

(5) wac A& A A

X 1 e B
24. P | x+1"i;1_x2 =
L
(1) 4 (7
7y
@1, vy
Ay 2o
el
@4 3 P
(5) Not atternpted
)
)
==

| 25. A certain sum.is divided in the ratio 3:5.
If the greater part is ¥ 75, then the sum is :

o

(1) 2 240 o7
(o

) T 120 ¢
o,

ORSE
o

@) 7150

(5) Not attérapted
rry
)

i s YTy :
: : e o e 260 A Cand BB St;&;t:‘ge‘d a business by investing
26. A o B 3 masr € 85,000 @ ¥ 15,000 w0 | &

% 85,000 and-%. 15,000 respectively. In what
ratio, out oflftie following, their profits will
be divided after one yeat?

(1) 17:3 U9

; vy
Q) 3:4 1
3) 35 @&

g~

@) 15:3 I~

(3) Not atternpted
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EEEE——

?SOOOHﬁﬁQTS%Hﬁ?’_ i
TR o F € 9061w ik, e s
TS S e 27 '
1) 5
N K’“y\'
) 3-1— %f(—h 45"
\%>
BER
2
“4) 3
(5) ST & ¥ 9w

28.

29. 2

Th HIEX 9eE, & e, R & 1
65 fobdt &, & g wwd ¥ 2 9 10 P @
T TES TRy e wRy Pz &

(1) 700
(2) 200
L(3Y"500
(4) 600
(5) ==t =& I A

20% ot 10%%%?&%@%@?&@
CER

1) 27% e

Q) 30%

(3) 25%

(4y°28%

(5) TTT e & =

27. In how many year

28.

29.

(4) 28%

LT, % a:,l--:.w»mg__,q‘_ a <

s will a sum of T 8000

um compound interest,

% per ann
ot nnually becomes % 92617

compounded 2
() 5
by
® 33
3)3
2
(4) 43

(5) Not attempted

A motorist travelled between two towns,

‘which are 65 km apart, in 2 hours 10 minutes.

The speed in m(e_tei"s per minute is:
(1) 700 .

2) 200

(3) 500

©)) 600 -

(5) Not attempted

The smgle discount equivalent to two
successive discourits of 20% and 10% is :

(1) 27%

- (2) 30%

3) 25%

(5) Not attempted
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£\
WA
=3

3. O 0<x<]1 ¥ AP A T A 9

31.

32,

e ® 2 ENAA A r= \’3

1
W:z- > \\ q
@) iy, Vs

2
(3) x \/\4 j_a‘

X
(5) ST & I G

W So 5\

TR FATE d@et A, B, C 8w D @1 sf|d
49.5 31 §&1 B 3R D %I TGS 1 82
(1) 2550
L2499
(3) 2450
(4) 2352
(5) TR T I =R
18 31 ST R O et e B 3, 3 3
Yol = fopam = bre o wa ¥ 2
(1) 218 5 &
(2) 36 /;Z/ .
21 216
) 6
(5) Sux & I awd

33. @x33x55, 23@><52><7 3T

24 x3* (3% 7% x11 =1 HCF %
(1) 24 %34 x5 x7x11 |

y«ﬂzxszxs

3) 22x3%x5x7x11

@) 24x3%x5°
(5) s 7 M TS

30.

31

32.

33.

If 0 <x <1, then the greatest number among
the following is :

1
(52

2) x
E

o
(&)

(5) Not attempted

The average of four consecutive numbers A,
B, C and D is 49.5. What is the product of
B and D? '

(1) 2550

(2) 2499

(3) 2450

(4) 2352

(5) Not attempted

How many cubes of edge 3 cm can be cut
out of a solid wooden cube of edge 18 cm?
(1) 218

(2) 36

(3) 216

4) 6

(5) Not attempted

The HCF of 22><;33 %.55, 23><32 ><_52><7
and 2*x3%x5x72 %11 is

@) 2*x34 %55« 7x11

@ 2%x32x5

3) 22x32x5x Tx11

@) 2%x3%x5°
(5) Not attempted
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34. =
at \/§~1-732 W V2 =1.414 %, @ 34. If /3 =1.732 and V2 =1.414, then
1 e (r }
V3+42 3’!111 R \/_+f is equ‘al to
e \. LV L 5
(1) 2.146 %, 4 (1) 2.146 ;{
2) 0.
(2) 0.064 o ) q,()64 T
[_"'r‘*} (Y"-\}
(3) 0.308 oy . (3) 0.308 s
a : 4
) 0318 o 4) 0318
e . 7“"
(5) wOT W& WAy - (5) Not attempted
Ly L)
7y 5 7
35. A U% B %E% am S Rl % w¢ T & | 35 A can complefe ' of a work in 5 days and
! 5y LA e i Y ’ I:T‘; 7
=~ ' - ! 1
[ 2 et | . B d
waie B S€l & Bl z qm 10 &\ § & B can complete 5 of the same. work in
wa %1 Alger B i P @€ 98 @@ @ | | 10 days. In hew many days both A and B
S R A rqi.r T THA E? - 1f |t together can complete the work?
oy { ‘ ¥
&y | e R
(1) 10 i (1) 10 bl
5 IS' Z( ; Oy
=;_~—f' ) j i |
oy 728 ' C s s
L | | : Ly
7y | ot
8— 3) S=
RS G e
(" W (Y3
5 13 el R
e | ol el
e e
(5) wwT K & A o L )N o attempted
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36.

37.

38.

D0

40.

59 29T ¥ 9 2023 & e ¥ W-20 Y arezamn
oL G

(1) st

(2" =i ariiet

(3) ®at=t

(4) SRy

(S) ST =& ¥ wred

U e Ry (TRugs)) @ et By ag
& o@e

(1) 1950

() 1976

B 1975

(4) 1959
(5) S W& & 9w

eieReT & @ o o # wE @1 sea e
HE[ ST & ?

(1) ST we9

£2) BiETE

3) HARH

(4) A=

(5) ST F& <1 TTEd

ﬁmaﬁaﬁmamgﬁﬁqﬁﬁw%mwsﬁ%w
BEIET o & 7

(1) 1916

(2) 1906

(3) 1909

4) 1915

(5) STT E T A

T TR @I a9 §5 fhar AT o9 feamt
¥ Frafoafad & & forg @ & omT @ & &7
(1) eEqeEE

2) @sr .

(3) e <

(4) <rCeT |

(5) ==mT =& & =Ed

36.

37.

38.

39.

40.

Which country has taken over the

Presidentship of G-20 from India in the year
20237

(1) Brazil

(2) South Africa
(3) Canada

(4) Bangladesh
(5) Not attempted

The National School of Drama (NSD) was
set up in which year?

(1) 1950

() 1976

(3) 1975

4) 1959

(5) Not attempted

Which of the following states is known as
'Sandalwood state of India'?

(1) Uttar Pradesh

(2) Chhattisgarh

(3) Karnataka

(4) Meghalaya

(5) Not attempted

‘In which year did the Congress and the

Muslim league sign the Lucknow pact?
(1) 1916

(2) 1906

(3) 1909

) 1915

(5) Not attempted

Non-cooperation movement was called off
when peasants set fire to a police station in :

(1) Ahmedabad
(2) Kheda

(3) Chauri Chaura
(4) Champaran

'(5) Not attempted
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QR —
e
e iy
B R ! y A ~ ! . .y e
G e L TN R T SRS

nctional units are there it

HAT F
”.3'3513'&?' 2 e (WWQ) ¥ fpeey | 41. How many ﬂ_‘ National Centre f
(1) eﬁ;{»-] Indira Gandhi Na or the
2wy ) Arts (IGNOA)?
3) " (1) Al
ahie @ Ee
5 4. 1 G 7 !
() SHL T8 3wl (4) Ninec|
Not attempte
42.a§19§0%amﬁ'wﬁ i
ar@a:r L A AT e | 42, Civil Rjght{?lMOVCmem of 1950's put an epg
e T Y e bt ?wr‘?r &Y feam) =% to social di crimination. From where did the
1) \—,11:{—,%3_1 LR movement-pegin?
(2) gugx . (1) GERMANY
3 N ©) U.S.AjX
e | (3) UK.~
(5; ool e (4) FRANCE
CTEl S amEd (5) Not attempted
43. TR m gt Hifg 43. Match the following :
T AT List-I")i - List-IT
B. e, ormst g L 11 {ie B. C;Vlllrdjsobedience IL. 1919
C. ™aEsgd &1 ssam y/ I. 1922 I P : |
D. orEsdn sided — IV, 193¢ o Mlu A}_’.V_?[I‘kers" strike III. 1922
Y R e Rt & W oo g A D. Non-gooperation IV. 1930
(1) A-III, B-I, C-II, D-IV ] Choomoxtz}?ment Rl
(@) AL B.L CIV, DI i ‘:e e correct answer from options
A-IIE B-IL C ity SN o]
‘(‘? 5 B0 LY _ (1) A-Il B1, C-IL, DAV
(4) A-H5B-1V, C-I, D-III ) A-IL BA. C-IV. D-III
(5) ST A AR  (3) AILBIL C-L DIV
i gain o Setari - g; AL iéj’;'v, C-I, D-II
. &E%E BHOIE ™0 % 9% qEdq ST Not attempted : '
TeTd @ &7 5 i
1) s ‘ 44, ich is"the second ;
& W\ﬂ‘%lﬁﬁﬂil Asia 1n terms of f;lea;argest continent after
(3) e A e |
) s, 33 s |
(5) T AE & e | B anan
oy 7 R
45. A me era Eiaen TE S ¥ P G qsmpted
(1) T ' ‘ 45. Whi oy
efery, fafsar ; ch bird'} s
(2) = fyfean (1) l%ailglr%ﬁges R dereio e
(3) wHE (2) Wea\fé?. bird
) @Ea (3) Indian robin
(5) waT wE T AGEY (4) Koel
(5) Not attempted
_ IKSHR /Y3 / Page 12 i
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46. wire Brhe Ramrdt 39 wiw e 2w ¥ g
TS e @ﬁﬁ E?
(1) emeforar (o
(2) I b
O L S,
@) 3

47.

48.

49.

50.
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(5) TR T T e

2005 (W) § (G WOR Y a8 F Reasy
e & s @ e & ¥ e

(1) 90 R= ()
(@) 120 R¥ o)
(3) 75 = =

@ 100 Ry [
(S)Wﬂﬁ%‘ﬂamﬁ .

FY)

TR AYHSH e &R A R ¥ 2

(1) ).
) s o
(3) = i
(4) @ | [
(5) STx €l 3 A

Loy

%Harﬁﬁ%aﬁ201’§%ﬁmmramm
ST ?

(1) 9y, €i.g9.3. ‘83!

(2) swe faREears, g

(3) w== @Sl
(4) =1. qu= T
5) ﬁ'{ﬂ'&ﬁ%ﬂﬂﬁ—é‘f

e

mﬁmwﬁmﬁmmﬂﬁﬂ%

T o ? "
(1) erier wasr ;;}
2) % )
(3) aftrerrg [~
(4) wrtes

(5) v i 2 e

46.

47.

48.

49.

50.

Famous cricketer Ben Stokes plays
international cric!(f:tjfor which country?
(1) Australia vy,

(2) West Indies 5

(3) New Zealand ")/

(4) England : );l

(5) Not attemptefl

In Mahatma Ganq 1 National Rural
Employment Gua(ra%tee Act 2005
(MGNREGA), how ‘many days of
employment are guaranteed in a year by
the Indian Goverrirent?

(1) 90 Days (o3

(2) 120 Days ‘:"'
(3) 75 Days

(4) 100 Days

(5) Not anemptectf:i

Our atmosphere 1(5 ’d1v1ded into how many
layers?

(1) Nine :j_:
2) Ei‘ght [oa
(3) Five

(4) Seven

(5) Not attempteél

Who won the 'Bh@;zjlt Ratna Award' for year
20197 Y

(1) Prof. C.N.R. Rao

(2) Ustad Bismilldzh Khan
(3) Pranab Mukherjee
(4) Dr. Bhupen Hazarika
(5) Not attempteclif'r? "

Which State in Irgdla was the first one to
introduce Mid da ?r }neal scheme?

(1) Andhra Pradesh
(2) Kerala ;&\’
(3) Tamil Nadu “
(4) Karnataka

(5) Not attempted
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S1.

52.

=55

54.

FrfaRa somt wx R Hifwg

A. wREmm # 9 g sty ¥
B. wlemEe ¥ give eigaera Rew ¥
SUgET W § B GI/A HUT wdy TP
(DI AMNRTIEB

(2) A &aw

(3) B ¥a@

(4) A 3R B 3=}

(5) ST & I =Y

TR ¥ wraer o ¥ orrta Bw Rea
EL E? -

(1) 452 7%

(2) 521 ==&y

(3) 472 ==t

(4) 528 -&X

(5) waT =& I AEd

s F gam == ga1 dio e ad e @
T A? :
(1) 10 =md, 2011

(2) 8 &=, 2015

(3) 8 ==, 2018

(4) 25 weady, 2017

(5) SaY «E & WA

Prefefiaa & & HIT ST & T YEIE 47
(1) wa o= e

(2) sAREr /@ It

(3) st @

(4) =raa AT

(5) sax wé & dned

Pt & & A e % e B oA

g T ¥ 7
(1) @rer
(2) |
(3) &

(4) dET

(5) vt 7@ 3 W

S1.

52.

53.

54.

55,

llowing statements :

Consider the fo : L
ve Police Commissionerateg

A. There are fi
in Haryana.

B. Faridabad has a

- located there.

Which of the above state

(1) Neither A nor B

(2) A only

3) Bonly

(4) Both A and B

(5) Not attempted

Police Commissionerate

ments is/are correct?

How rmany total number of canals are there
under 'The Bhakra System' in Haryana?
(1) 452 Canals ‘

(2) 521 Canals

(3) 472 Canals

(4) 528 Canals

(5) Not attempted

In which year was the Pradhan Mantri Mudra
Yojana launched in Haryana?

(1) 10th March, 2011

(2) 8th April, 2015

3) 8t April, 2018

(4) 25t February, 2017

(5) Not attempted

Who amongst the folloMng was the first
Chief Minister of Haryana?

(1) Rao Birender Singh

(2) Banarsi Das Gupta

(3) Bansi Lal

'(4) Bhagwat Dayal Sharma

(5) Not attempted

Which of the following is NOT a part of the
traditional attire for men in Haryana?

(1) Sopali

(2) Safa

(3) Kamti

(4) Dohar.

(5) Not attempted
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56. ghRamm &1 TR /a7 & 7

57.

58.

59.

60,

\
KSHR /v, Page 15

(1) &
(2) =
(3) ggfear (M)
@) g O
(5) ST TE é?& ey

)
)

ﬁmﬁf@aaﬁuﬂ‘rwﬁanw

A. Eﬁmmﬁsgamﬁqu%|

B. wEFE ER@wT % werwfe wemit ¥ @
T E M)

srdE BT (F) ¥ ¥ B wd v

(U*fﬁ’an?rT”ir%?rB

@) A F=w L
(3) B ®=w@ o
(4) A &R B @
(5) ST T I =
(")
ﬂﬁﬂﬁﬁlﬁﬁ‘j%ﬁwnwmﬁqa%?
(1) p&e 1
Q) ET
(3) HrTa
(4) &

(S)Wﬁaaﬂfﬂ%ﬁ

ﬁmhf@aawﬁzvﬁmﬂﬂﬁﬁqr. 6

A. =9 =gt T~ ) ToeE |1 )

B. gd 2010¢H: doiEl &I sREWN B ASHY
9] &1 IoiH A& Rpam TR

S BUHl § A B Ay gE R

MHamMARAETB

(2) % A

(S)WB lkey

(4) A it B gt
(S)Wﬂﬁ%ﬁirmﬁ

wfa a1 Y % A P o o 7
O Fd

) gy [~

(3) wraei

(4) sl

(5) wwrr =8 & amEq

56.

Which is the state flower of Haryana?

(1) Lotus 147
(2) Marigold ()
(3) Dahlia tto
(4) Tulip (5

~(5) Not attempted

57.

60.

B.

o)

Consider the fdllowing statements :

A. There are 8 Administrative Divisions in
Haryana. |7

B. Panchkula js-one of the Administrative
Divisions of Haryana.

Which of the above statements is/are correct?

( 1)‘ Neither A neor B

(2) A only paeif

(3) Bonly -

(4) Both A and B

(5) Not attemp}ﬁl,

94)]
. Where is IIIT, I—la"ryana' located?

(1) Kurukshetr;f. R
(2) Hissar
(3) Sonipat i
(4) Karnal LSt
(5) Not attemptea

{‘ ‘{‘\

Consider the fi L].lowmg statements :
A. Hindi is th(e offxc1aL language of
Haryana.
Punjabi ha§t been accorded the status of
an ofﬁcml( nguage of Haryana in the
year 2010. G
Which of the above statements is/are correct"
(1), Neither A for B
(2) A only
(3) B only
(4) Both A and/B
(5) Not attempteg|
9 4]
Which is kno#h: as the "Cherrapunji of

Haryana"? (5,
(1) Rewari (i
(2) Thanesar ([t
(3) Kosli

(4). Chhachhraplj
(5) Not attempted
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61.

62.

63.

64.

65.

A, wREmm & S ug S & fe & S wE

qreTe 1 yrae fhem s & e e #
Rea &7

(1) 7%

(2)

(3) fEEw

(4) =T

(5) STX WEl o =Ed

Fhe g T Iag (hog s d) &% 9 o
Frafaiad wumt W REr $ifvg :
S]]
T ol ¥ ;

B. sRumm @ i g S q sxrE@s Fo T@ S Oy |-

9 ot 1
SUdE F § B /Y YT O BT
(H)TAIRTEB
(2) daw A
(3) %aw B
(4) A 8T B 3t
(5) ST T <A1 =@

(1) 3,20,00,000 — 3,50,00,000
2y 1,50,00,000 — 2,00,00,000
(3) 2,00,00,000 — 3,00,00,000
(4) 3,00,00,000 — 3,20,00,000,
(5) ST 7& A1 A %

Tt SeEer aer d9d @ fem # v @l
I ¥ 64 % WM I SREm W@ 7 06
TR & fhar & 7 .
(1) dfsa s@as

(2) & 23 @@ S

(3) 4 drud = A

(4) 9 9o @

(5) JTT 7 0 =@

el Rud &7

(1) T80™

(2) wiEERE

(3) wagen

(4) 71T

(5) Tt & A e

61.

62.

63.

The ancient Fort of Madhogarh is located in
which district of Haryana?

(1) Mahendragarh

(2) Sirsa

(3) Hisar

(4) Jhajjar

(5) Not attempted

wing statements about

Consider the follo
Gross State Domestic Product (GSDP) :
b is more than that of

A. GSDP of Haryana 1
Bihar. Je
B. GSDP of Haryana 1s more than that of

'Uttarakhand. :
Which of the above statements is/are correct?
(1) Neither A nor B ;
(2) A only
(3) B only

(4) Both A and B

(5) Not attempted

What is the approximately population of

- Haryana?

64.

- (1) 3,20,00,000 — 3,50,00,000

(2) 1,50,00,000 — 2,00,00,000
(3) 2,00,00,000 — 3,00,00,000
(4). 3,00,00,000 — 3,20,00,000
(5) Not attempted

For recognizing the efforts towards
environment conservation and promotion,
Government of Haryana has introduced the
award in the name of :

(1) Pandit Jasraj

(2) Shri Darshan Lal Jain

(3). Shri Chaudhary Devi Lal

(4 Shri Bhajan Lal

65.

(5) Not attempted

V\{here is former Indian Test Cricketer
Virender Sehwag's Cricket Academy located?

(1) Gurugram

(2) Faridabad

(3) Panchkula

(4) Jhajjar

(5) Not attempted
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66.

67.

68.

69.

70.

IKSHR / Y3 / Page 17

qra! qEdl @ Frafafaa ¥ ¥ feas are @ @
T B 7

(1) =ER

(2) Pramt

(3) =T

(4) FosT

(5) ST 7 T W@

T GR& M (T u o) b w6 H et

Ho WX far Hifg

A. I% Uh HHT quel gRig S92

B. g WG GYHN P &GN D UMD
iz ) :

sodea ¥ q BT A HUA 981 gfE °

() 7 A& B

(2) Faw A

(3) ¥=w B

(4) A 3T B T=¢

(5) SaY & I ARd

Thamm g § A (amm) T T
TS B P
(1) 130-140

(2) 80—-90

(3) 90-110
(4) 110-130
(5) STT &l A1 9Ed

FHIEEE 4 9gd AEEYUl T & | U al
e ¥, gEU S HIT 1 & 7

(1) saTet

(2) o I

(3) T ARSI

4) u a3

(5) Sax =& AT TmEd

mﬁm‘é’ruﬁw{aﬁméﬁﬁm%?

(1) @ %%

(2) ghr

(3) fremeaTSit

(4) g

(5) Sax 7El 1 AEd

606.

67.

68.

69.

70.

Charkhi Dadri does not share border with
which one of the following?

(1) Hisar

(2) Bhiwani

(3) Mahendragarh

(4) Jhajjar

(5) Not attempted

Consider the following statements in respect

of the National Security Guards (NSG) :

A. It is one of the Central Armed Police
Forces.

B. It comes under the administrative control
of the Ministry of Defence, Government
of India.

Which of the above statements is/are correct?

(1) Neither A nor B

(2) A only

(3) B only

(4) Both A and B

(5) Not attempted

How many (approximately) Community
Development Blocks does Haryana State
have?

(1) 130 —140

(2) 80—90

" (3) 90— 110.:

(4) 110-130
(5) Not attempted

Fatehabad, is home to two very important
monuments. One is The Lat; which is the
other one?

(1) Banawali _

(2) Arjuna Sthal

(3) Humayun Mosque

(4) Dharamkshetra

(5) Not attempted

Fomous sportsperson Yogeshwar Dutt is
associated with which sport?

(1) Javeline Throw

(2) Boxing

(3) Shooting

(4) Wrestling

(5) Not attempted
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(1) wue
(2) s L)
@) emgwer
(4) @ia }
(5) sX 1313%
72. F& G mﬁﬁéﬂ %7
()
(@ Rt
(3) HAEEE ;
(4) pE&T
(5) SaT 7@ En%"c’r
73. RS @l Tﬂiﬁ;ﬁﬂ HEN &7
(1) R
(2) Toari ’
(3) TFEd s
(4) T .
(5) ST & am
74, @-xm%ﬁm@—anﬁw
W' i~ ‘
-1 - ga-11
A wEas L gEm
B. &HgHl A 1L T3
C. gl 4 UL SE
D. @i iy IV 9
ﬁmmﬁmﬁ%aﬁmmwaﬁﬁq

(1) A-1I, B- I, C-1I, D-IV
(2) A-L B-IL; CH11, D- IV
(3) A-1V, B- IT,"C-l, DAl
(4) A-II, B-III, C- IV, D-I

(5) waT & %‘—en
75. ﬁwﬁﬁmf&wﬁsﬁaﬂﬂmmﬁa
q?: % 4 (‘Y-'}
(2) gT| freiad
(3) sfor
4

(5) Tt T & T

71.

72.

73.

74.

75.

In the dance form 'Loor', the word Loor

means?
(1) Crop L,
(2) Girl )

(3) Ornament =
(4) Music ()
(5) Not attemptéd

Where is Brahrpa Sarovar located?
(1) Hissar

" (2) Sirsa o)

3) Fatehabad -,
(4) Kurukshetra_
(5) Not attemp}e c)1

Tomb of Ibrahig Lodi is located at :
(1) Jhajjar

(2) Bhiwani T

(3) Panipat i
(4) Kaithal 1L
(5) Not attempted

Match LlSt-I TO%S'C Centres with List-II their

location.

List-I i ' List-IT
A. SkyLark |~ 1 Hodal
B. Damdama . ‘Gurgdon
C. Dabchick L [II. Uchana
D. Kamna Lakery IV. Panipat

Choose the comréet answer from the options
given below : (v

(1) A-IiI, B-I, @I, D-IV

(2) A-l, B-II, G-II, D-IV

(3) A-IV, B-ILl€-1, D-III

(4) A-L, B-IL, C-1V, D-I

(5) Not at‘tem'pted
' L

Haryana does fi6t surround Delhi on
which side?

(1) West LT\}

@) Notth "
3) South
(4) East Ui
(5) Not attempted
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76.

77.

78,

79.

j(3)qgfi:———|%raﬂmm

FU + AET F AT § I A s suge
g ¥ -

(1) SN :{ )
2) T o
(3) FUET o
(4) HemeTEA N
(5) ITX B I 9wy v
‘BILEN WA UT 1 Sfuw fue ¥ -
(1) &« g6y L0
@ gheages )
(3) Tt gow (o
(4) ®ET gEw Do
(5) ST T I WS v
L[
T B gRe ¥ B = gm WY ?
)
() Jie Fap)
3) &= s
@y g ]
(5) sux T I =T ﬂ

ﬁqw%ﬂwﬁﬁ?ﬁﬁa’rmmm
& gen ¥ ?

(l)wﬁg%wrﬁ%%li
(Z)E“fﬁ?ﬂ-‘eﬁ'(ﬁ'wﬁ‘t%‘r?

¥ 5w i B

e
@ )

84,

81.

82.

83,

© (5) FOR TE T A

T UET W I 9T s SUgHT 9 & —
(1) arffterr

(2) i
(3) wrehTeT )
(4) witsw ()
(5) wax W& W oA ¢ |
‘ﬁ'mamﬂa«’”@q%—l
(1) == Ly
@# 0
(3) =7 l’}
(4) 7ex o
(5) suT TE A AR
[
Ry’ 9TE T FATIch SUGART qATIarEl 9 ¥ —
(1) fdrey L
(2), TR e
(3) g ]
Qe
(5) ST W8 Tq AR
[~

(1) o Ff A
(2) A=A BB T FET
(3) =% dige )
() offa 5 o T

k_).

(4) 387 HTI, ﬁmwﬁm' | i
(5) w=T =E% A g [ : | s
85. fe A § B9 HIUW TSN H Th AT
80. ‘iR o= & g gaifs tmgw oy ? )
i & — ") . oy
1) SEgas
(1) emyb shred & mﬁm Ez). B g ;::
(2) AeHEE e |, Wﬁﬁ ('3) il o,
(3) sl gferer 3 mrﬂa?r (4)‘ = Eml“‘ﬂ‘"”' %
(4) v shrew & wd & HfnE | %-““‘3‘“-“'. [~
(5) were i & () SIS T 3 TR
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87.

magémﬁwﬁ‘
(3) T I Frw #

86.

87.

Large scale storage of gr_ains. is done in :
(1) Jute bags and metallic bins

(2) Metallic bins

(3) Silos and granaries

(4) Jute bags

(5) Not attempted

Pathogens are microbes which :
(1) Spoil standing crops

(2) Spoil food

(3) Cause diseases

(4) Spoil leather goods

(5) Not attempted

88. Match the following : '

88. Fmfwlea =+t oo &Y - Column-I Column-II
w1 w11 Name of the Movement
W A il Animal
A. 9 ><-I. GE&Il A. Snake I. Swim
B. #&wl II. Y B. Fish II. Slither
C. U=y III. = C. Bird III. Walk
D. ™ >ﬁv TS D. Cow IV. Fly
(1) A-IL, B-I, C-IV, D-III (1) AL, B-I, C-IV, D-III
(2) A-L, B-1V, C-III, D-II (2) A-I, B-1V, C-III, D-II
(3) A-IL, B-III, C-I, D-IV (3) A-IL B-IIL C-I, D-IV
(4) A-IIL, B-II, C-IV, D-I (4) A-IIL B-IL, C-IV, D-I
(5) STX Wl I TR (5) Not attempted

89. Pr=fifag & I & II & gafﬁm HY 89. Match the following I and II :

I : 11 : I I
Ha & AH §TEA 37T . Name of the Organ of
“A. =5TE I 9918 =l i Organism Respiration

B. ger I %% A. Human being I. Trachea
C. e 1L e (ai) B “Rarthworm® 5 TILY Tungs
T o iV e c. Il}sects III. Gills
(1) A-IIL, B-IL, C-IV, DI 01, THE . IV. Skin
(2) A-IL, B-L, C-IIL, D-IV (1) A-IT, BIL, C-IV, DI
(3) A-IIL, B-I, C-II, D-IV (2) AL, B, C-III, D-IV
(4) A-IIL B-L, C-1V, D-II (3) A-IIL, B, C-II, D-IV
(5) waT &l & = (4) A-II, B-I, C-1V, D-II

y (5) Not attempted

90. frefaflaa & & @F-a1 dEmaes & ? 90. Which of the following is an antibiotic?
(1) uigmmEie (1) Erythromycin
(2) difsTm HEHE (2) Sodium carbonate
(3) emwmEd (3) Alcohol X
(4) TRt ol (4) Sulphuric acid
(5) waT & & GEd (5) Not attempted
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Which of the following food items gives

91. 91. Sk e
T ¥ ° blue-black colour with iodine ?
(1) s (1) Protein
(2) 1 (2) Fat
(3) = (3) Starch
(4) @i ward (4) Minerals
(5) ST RN & A (5) Not attempted
92, T I TITN YA ST Yoy o whpar weed ¥ — 92. The process of loosening and turning of the
(1) soil is called —
(‘;) TS (1) winnowing
E 4; 3 5; () tilling
¢ (3) sowing
(5) ST S Tqred 4) harvesting
5) Not attempted -
93.@ﬁwﬁwﬁfﬁ§aﬁ@rﬁm%m€a%th€r G :
m;:ﬁ o e ¥ ? 93. Anodising is a process of forming a thick
(1) A oxide layer of :
(2) TSt (1) Gold
(3) T (2) Copper
(4) TegftEe (3) Si_llver :
: Ty (4) Aluminium
() satie (5) Not attempted
94, T BT UTILIHOT 4T T ? d IR G8 OT A
(I) g9 Ft s 70°C o ux e | 04 Pasteurisation f9 _ﬁ‘, I?D' v
30 &b T TH B M TR T srTH (1 Heat?#gfémldtﬁ’,a Otlidn'l ‘l?ilil?o't
@Sﬁﬁ 3 T 30;2:22112 and then suddenly ‘chilling 1
T T S8 srame gasia L i |
@) = E? Bl : = (2) Boiling of milk and then suddenly
i hilling it.
T 70°C 99X @rET 30 i S
) {;T ﬁa'a—; 'rrcf a7 aiT RET 58 SR—o1 $e 2 (3) Heating ‘(?f milk to -aboht 70°C for .:':lbOL‘lt
: I 3O'secor_1ds and then slowly cooling it
and storing.
(4)gﬂﬁmeﬂ1ﬁﬂaﬁﬂfr’(—%ﬂim O A R ‘ :
(4) Boiling of milk and then slowly cooling
HEF GSTLA HLAT|
(5) weat = T =TEd it and storing.
' (5) Not attempted
95. wysy 21 | i@ B ATH TWeeaH
e %r—f‘r T 9s. The mlmmum dlstance required by a normal
AL human eye to see the objects clearly -
(1) 40 &=t (1) 40 cm
(2) 25 4= (2) 25 cm
(3) 50 &= (3) 50 cm
(4) 30 |=r (4 30 cm -,
(5) way =& A1 @Ed (5) Not attempted
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96. Frififes ¥ & -t oo whear 22

(1) SoaTy &7 59 sraeen & ofgds

(Z)Wasrwﬁcrhaﬂq X

@) 3 o i ;,,’

(4) TURSHT & ¥ I ST How

(5) SuT w1 I Ay GTT
o))

97. aﬁwmﬁwﬁaﬁmsﬁ%ﬁmaﬁwﬁaﬁﬁ

mém%ladwmmata%ﬁzsnﬁwqﬂaﬁ?
T HEATAT & ?

(1) oot &1 e |
(2) wHIY B T n;

L

(3) werIeT HT ﬁw )
(4) weobIeT BT WHE oo

Lo

(5) SR =& & Ay oy

98. JErva (CEwES) feed Ear §7

(1) Srsiram

() 9%

(3) sframg 4 -
(4) feramy m
(5) Sux =& I urEd :-;;

99. TR T H aGd e TrW TGS B g A
ST TS et £

(1) iy o Dot i
Q) aftm :
3) ==
(4) TaE -
(5) wT T & A ! |
100. wer-1 & & 71 7Y @Y wet-11 & < 73 Hal % |y
gifr X - &
-1 | w11
A. - - L' fra <=
B. we I ggfs ,
C. a5a I gt onet
D, e 1V() ermgest
wel fawe g ¢ e

(1) A-I, B-1V, C-1lI, D1
(2) A-1V, B-111, C-1, D-II
(3) A-1V, B-I, C-1II, D-II
(4) A-1V, B-1, C-11I, DAIII
(5) wax 7€ &M =ed

96.

97.

98.

99.

Condensation is the process OE A ’
(1) Conversion of water vapour into its liquid

form . .
(2) Conversion of water info its vapour
(3) Evaporation of petrok)
(4) Separation of sand-from water by
decantation o
(5) Not attempted o
ol
Mirror changes the direction.of light that falls
on it. This change of direction of light by a
mirror is called?
(1) Reflection of light
(2) Reversion of light 5
(3) Displacement of light—*
(4) Scattering of light ("’
(5) Not attempted

g
)

3

N

w7l

Ll
Typhoid is caused by — [
(1) Protozoa

(2) Fungi

(3) Bacteria A0

(4) Virus | o)

(5) Not attempted (i)
i

Dark polpu;ed objects absorb heat
than the light coloured objects
(1) very much.less

(2) more e
(3) less
4) ‘eq‘uai e
5) Not attempted '
(5) Not attempted s
Ay e $ L ¢ ' ‘(‘::} L
100. Match the items in colymn-1 with those in
column-II : (N
Column-I “"Column-II

A. Salivary gland 1. ‘Bile juice

B. Stomach - II. " Insulin -

C. Liver III. Hydrochloric Acid
D. Pancreas IV.' A mylase
Choose the cotrect optiohl }

(1) A-L B-IV, C-II, D-If->

(2) A-1V, B-III, C-1, D-I1M

(3) A-1V, B-I, C-III, D-IP

(4) A-1V, B-1, C-1I, D-II~

(5) Not attéempted T B
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